BC Calculus — 10.8a Notes — Radius and Interval of Convergence of Power Series
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The domain of a power series is the set of all x-values for which the power series converges.

Note! The center is alivays part of the domain,
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The Interval of Convergence is the set of values for convergence. 'We use the Ratio Testto
| find the interval of convergence.
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188 Radius and Interval of Convergence of Power Series
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I_Fmd the interval of convergence for each power series.
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| Find the radius of convergence for eachseries.
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15. The coefficients of the power series Z a,(x —3)" satisfyag =6and a, = (;n:i) An-q foralln > 1. What
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17. Leta, = —for n = 3 and let f be the function given by f(x) = xlnx

a. The function f is continuous, decreasing, and positive. Use the Integral Test to determine the convergence
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